Review: Solving Right Angle Triangles for Sides

Mr. Smith’s friend Ryan works as a millwright, and is constructing a conveyor belt to transport wheat
grains from the ground to a window in a silo. This time, the window is 5 m off of the ground, and the
conveyor belt needs to be at a 15° angle. How long should the belt be?

Here is a picture of the situation: Why can’t we use the Pythagorean Theorem?
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We need a different tool to help us solve these problems. Fortunately you learned about another tool
in your grade 10 course:
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Follow along with Mr. Smith as we use one of these ratios to find the length of the belt.

Diagram: Solution: opp




Review: Solving Right Angle Triangles for Sides

Let’s try a couple more where Mr. Smith gives you the structure:
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